YRI

02 H—=—12

—a—22
0 T T T

0 20 40 60
Distance (kb)

YRI

80

100

0.2 H—=—12

—a—22
0 T T

0 0.05 0.1
Distance (cM)

YRI

——2

08 H s 12

—a—22

0 30
Distance (kb)

. YRI
——2

0.8 H-=u—12
0.6 —a—22
0.4
0.2 -&T'\‘“.

0 T

0 0.05

Distance (cM)

0.15

0.2

CEU
) %“&..
o M
o 06
c
g m
= 04
0.2
0 T T T T
0 20 40 60 80 100
Distance (kb)
CEU
1
0.8 1
o 06 =
- M
3
= 04
0.2
0 T T T
0 0.05 0.1 0.15 0.2
Distance (cM)
CEU
1
0.8
T 06
g
L
g 0.4
0.2 S =
0
0 30
Distance (kb)
] CEU
0.8
T 0.6
8
A
S 04
02 e
0 T
0 0.05
Distance (cM)

CHB+JPT
1
0.8 M
o 0.6 —\‘\‘\‘\
§ "‘N——A\‘__‘\‘\‘_‘\‘_‘_‘\‘
= 04
0.2
0 T T T T
0 20 40 60 80 100
Distance (kb)
1CHB+JPT
0.8 '.\‘-‘
0 0.6
= 04
0.2
0 T T T
0 0.05 0.1 0.15 0.2
Distance (cM)
CHB+JPT
0.8

Mean r?
o o
NS

0
0 30
Distance (kb)
1CHB+JPT
0.8
L 06
§ 00 B\
Q
s 0.4
0.2 H‘\“v‘:;‘\
0 T
0 0.05

Distance (cM)



